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Exam Style Questions

Simultaneous Equations  CorbettmoOtths

Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed

k.

Guidance

1. Read each guestion carefully before you begin answering it.
2. Don't spend too long on one question.

3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings

g Revision for this topic
www.corbettmaths.com/contents
Video 295
Video 296
.
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1. Solve the simultaneous equations

Sx+3y=41 =
2x+3y =20

Do not use trial and improvement

Cxt 33’ &l

Maf_ti‘ii_z—‘-

3¢ =al
X #
’J'VJ 1= ? ‘.IJO 0
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2, Solve the simultaneous equations

sx+y=11 =\
IM-y=9

Do not use trial and improvement
Sy =l
o) 3x-y
gi -
1= 45
Mi—, Az 25 A 0,
12.5 h:-'“
§=-1-5

S CORBETTMATHS 2014



3. Solve the simultaneous equations

—{!

X+ 7y=064
X+dy=28 =

Do not use trial and improvement

X4 ;neu'
{\,l 1"'3‘_1:1‘

=3k
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PJ—a ’-‘-1 ;A (‘)

x+43=44
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4. Solve the simultaneous equations

ax—dy=24 |
X—dy=3 =

Do not use trial and improvement

-4, =&
X_’;};c_u

=
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5. Solve the simultaneous equations

2+ qy =14 — !
dx -4y =4 -
Do not use trial and improvement 'k
. ol W Q)
Ax +'\3' U

-4/
byt U = 4 \'l'g'q'

bl
133
L33 wh @
6 ’f‘h{ “" 3 3.
‘, 3

6. David buys 2 DVDs and 2 CDs in a shop and in total they cost £18.
Ellie buys 3 DVDs and 2 CDs in the same shop and they cost £22.

iy

Form two eguations and solve to find the cost of each DVD and each CD.

3a4lyz2d - deit @
P ﬂ gv10=\f 7/
A o= b
M 2=t ide @
m\l’fl -3
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7. Solve the simultaneous equations

Do not use trial and improvement
Nae ¥, = b
(1% ,l:}\: b
w1 - YL

13 2
ch o (D‘
‘*”ﬂ?&u
9 \st

)

8. Solve the simultaneous equations

%— 3x+2y=16 ¥
- 2x-3y=2 L

Do not use trial and improvement

0y *“3-; ll'G
» b - - ¥

ESY < 93~
=4
i 1=v b Q)
Ry =k
1'1'3:7_
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9. Solve the simultaneous equations

—_—

x - 2y = 14
x+2y=10 (%

Do not use trial and improvement

10. Solve the simultaneous equations

VD oaxesy=1 XD
x-3=7 ¥ G

Do not use trial and improvement

6 t\ﬁa: >
N Ok a5y=Y

'——‘q-i -'.'. 35

du"
H'gj'-'\‘
Y=
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11.  Solve the simultaneous equations
-y=23 43
2% + ﬂy =8

Do not use trial and improvemnent

12.  Solve the simultaneous equations

2y - 5x=9 X1'
S dy + Ix=5

Do not use trial and improvement

|f‘—\01-:\$

=5
r 33
2-’/‘”‘4/()-

L=\
pd 2= - inb@

st
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13.  Find the coordinates where the straight lines below cross.

y-3x=3
)(—25!'=4

=3

-
@

~daty s

1 -

< |0
n=-1

Pt 2=-1 who (\)

14. Solve the simultaneous eguations

3a+c=8
.)\ 2a-c=7 _ 1
—_—

Do not use trial and improvement
Ga. =15
L=3
'J ‘:3 :JO (‘)

grc=b
¢=-\
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15. Solve the simultaneous equations

0

Do not use trial and improvemnent

dx+3y=5
2x-5y=9 9 1L

Do not use trial and improvement
1y° 1+\0
-\U
R Dbt
o =-31+%
~14=-3%
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17.  Solve the simultaneous equations

8 ;i?';” _1.}3:-3.
Do not use trial and improvemnent dJ :@
l”l-"s\:ﬁ’ 3:6-2 7
@ TLTyEd
L5 SR
L= 5
Sl u.@
'; -\7 S 3

18.  Alan and Connor have £6.70 in total. &*C (lq' %
=3

Alan has £1.70 more than Connor. L— c

Let a be the amount of money Alan has.
Let ¢ be the amount of money Connor has.

Set up a pair of simultaneous equations and solve to find out how much each

person has. &-\-C L ?
P
20 =4-4
€= ¢-2 ,.;..*U
Qta:\'£=‘°?-
c=3s . Fudo #2950

I8, A— Connor = .

@
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19. Three bananas and two pears cost 95p.
Five bananas and three pears cost £1.51 31+ ‘,l'.‘”

Find the cost of ten bananas and ten pears. 31 - 5'

< LY '.:.ﬁ
D Dzl 7;3 1.-

@ S ¥ 3\3=|§| w1
\S4 4 Wy b+s5 g5+ 6b= 1 |/
o152 4qy" = 453 10x IF+10%x12 =

> i
{J Y’_‘L’Ab éz ..... qo{q}

20. Solve the simultaneous equations
1) Sx+2y=-34 * 3 . @
ax-3y=-41 X 1 (V)

Do not use trial and improvement

S CORBETTMATHS 2014



